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Test 1(£E/M)

Part | Vocabulary and Structure (20 minutes)

Directions ; There are 30 incomplete sentences in this part. For each sentence there are

[S2]

10.

11.

12,

13.

four choices marked A), BY, C) and D). Choose the ONE answer that best
completes the sentence. Then mark the corresponding letter on the Answer
Sheet with a single line through the center.

she realized it was 0o late to go home.

A) No sooner it grew dark than B) Hardly did it grow dark that

C) Scarcely had it grown dark than D) Tt was not until dark that

In Britain, people four million tons of potatoes every year.

A) swallow B) dispose C) consume D) exhaust

The soldier was of running away when the enemy attacked.

A) scolded B) charged C) accused ) punished

Had he worked harder, he the exams,

A) must have got through B) would have got through

) would get through D) could get through

The price of beer from 50 cents to $ 4 per liter during the summer season.

A) altered B) ranged C) separated D) differed

His remarks left me about his real purpose.

A) wondered B) wonder ) to wonder D) wondering

Some old people don't like pop songs because they can’t so much noise,

A) resist B) sustain C) tolerate D) undergo

If only the committee the regulations and put them into effect as soon as

possible,

A) approve B) will approve C) can approve D) would approve
one time, Manchester was the home of the most productive cotton mills in

the world.

A) On B) By ) At D) Of

She ought to stop work; she has a headache because she too long.

A) has been reading B) had read C) is reading D) read

Niagara Falls is a great tourist s drawing millions of visitors every year.

A) attention B) attraction C) appointment D) arrangement

I don’t mind the decision as long as it is not too late.

A) you to delay making B) your delaying making

C) your delaying to make [)) you delay to make

The mere fact most people believe nuclear war would be madness does not

mean that it will not occur.
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14,

15.

16.

17,

18.

19.

20.

21,

22.

23.

24.

25.

26.

A) what B) which C) that D) why

John seems a nice person. » I don’t trust him.

A) Even though B) Even so C) Therefore D) Though

I don’t think it advisable that Tom to the job since he has no experience.
A) is assigned B) will be assigned

C) be assigned D) has been assigned

I hope all the precautions against air pollution, suggested by the local
government, will be seriously considered here,

A) while B) since C) after D) as

When people become unemployed, it is that is often worse than lack of
wages,

A) laziness B) poverty C) idleness D) inability

I’ve never been to Beijing, but it’s the place

A) where I'd like to visit B> T most want to visit

©) in which I'd like to visit D) that I want to visit it most

After the Arab states won independence, great emphasis was laid on expanding
education, with girls as well as boys to go to school.

A) to be encouraged B) been encouraged

C) being encouraged D) be encouraged

The new appointment of our president from the very beginning of next

semester,
A) takes effect B) takes part
C) takes place D) takes turns

The president made a speech at the opening ceremony of the sports meeting,
which encouraged the sportsmen greatly.

A) vigorous B) tedious O flat D) harsh
Wouldn’t you rather your child to bed early?

A) go B) went C) would go D) goes
Although Anne is happy with her success she wonders will happen to her
private life,

A) that B) what O it D) this

When he arrived, he found the aged and the sick at home.

A) none but B) none other than

C) nothing but D) no other than

The pressure causes Americans to be energetic, but it also puts them under
a constant emotional strain.

A) to compete B) competing

C) to be competed ‘ D) having competed

Your hair wants . You'd better have it done tomorrow.

A) cut B) to cut C) cutting D) being cut
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27. evidence that language-acquiring ability must be stimulated.
A) Tt being B) It is C) There is D) There being
28. Those gifts of rare books that were given to us were deeply
A) appreciated B) approved C) appealed D) applied
29. The manager lost his just because his secretary was ten minutes late.
A) mood B) temper C) mind D) passion
30. Great as Newton was, many of his ideas today and are being modified by the
work of scientists of our time,
A) are to challenge B) may be challenged
) have been challenged D) are challenging

Part [ Reading Comprehension (35 minutes)

Directions: There are 4 passages in this part, Each passage is followed by some questions
or unfinished statements. Foreach of them there are four choices marked A),
B)., C) and D). You should decide on the best choice and mark the
corresponding letter on the Answer Sheet with a single line through the

center.
Passage 1

Questions 31 to 35 are based on the following passage:

The rise of multinational corporations (85 H 4> 7)), global marketing, new
communications technologies, and shrinking cultural differences have led to an
unparalleled increase in global public relations or PR,

Surprisingly, since modern PR was largely an American invention, the U. S,
leadership in public relations is being threatened by PR efforts in other countries. Ten
years ago, for example, the world's top five public relations agencies were American-
owned. In 1991, only one was. The British in particular are becoming more sophisticated
and creative. A recent survey found that more than half of all British companies include PR as
part of their corporate (/> @] #) planning activities, compared to about one-third of U, S.
companies. It may not be long before London replaces New York as the capital of PR,

Why is America lagging behind in the global PR race? First, Americans as a whole
tend to be fairly provincial and take more of an interest in local affairs, Knowledge of
world geography, for example, has never been strong in this country. Secondly,
Americans lag behind their European and Asian counterparts (FXF R B9 A) in knowing a
second language. less than 5 percent of Burson-Marshall’s U. S, employees know two
languages. Ogilvy and Mather has about the same percentage. Conversely, some European
firms have half or more of their employees fluent in a second language. Finally, people
involved in PR abroad tend to keep a closer eye on international affairs. In the financial PR
area, for instance, most Americans read the Wall Street Journal. Overseas, their
counterparts read the Journal as well as the Financial Times ‘of London and The

3
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Economist. publications not often read in this country.

Perhaps the PR industry might take a lesson from Ted Turner of CNN (Cable News
Network), Turner recently announced that the word “foreign” would no longer be used on
CNN news broadcasts. According to Turner, global communications have made the
nations of the world so interdependent that there is no longer any such thing as foreign,
31. According to the passage, U. S. leadership in public relations is being threatened

because of

A) an unparalleled increase in the number of public relations companies

B) shrinking cultural differences and new communications technologies

() the decreasing number of multinational corporations in the U, S,

D) increased efforts of other countries in public relations
32. London could soon replace New York as the center of PR because

A) British companies are more ambitious than U. S, companies

B) British companies place more importance on PR than U. S, companies

C) British companies are heavily involved in planning activities

1) four of the world’s top public relations agencies are British-owned
33. The word “provincial” (Line 2, Para. 3) most probably means

A) limited in outlook

B) like people from the provinces

) rigid in thinking

D) interested in world financial affairs
34. We learn from the third paragraph that employees in the American PR industry

A) speak at least one foreign language {luently

B) are ignorant about world geography

() are not as sophisticated as their European counterparts

D) enjoy reading a great variety of English business publications
35. What lesson might the PR industry take from Ted Turner of CNN?

A) American PR companies should be more internationally-minded.

B) The American PR industry should develop global communications technologies.

() People working in PR should be more fluent in foreign languages.

) People involved in PR should avoid using the word “foreign”.

Passage 2

Questions 36 to 40 are based on the following passage:

If you want to stay young, sit down and have a good think. This is the research
finding of a team of Japanese doctors, who say that most of our brains are not getting
enough exercise — and as a result, we are ageing unnecessarily soon.

Professor Taiju Matsuzawa wanted to find out why otherwise healthy farmers in
northern Japan appeared to be losing their ability to think and reason at a relatively early

age, and how the process of ageing could be slowed down.
4
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With a team of colleagues at Tokyo National University, he set about measuring brain
volumes of a thousand people of different ages and varying occupations,

Computer technology enabled the researchers to obtain precise measurements of the
volume of the front and side sections of the brain, which relate to intellect (5 fE) and
emotion, and determine the human character., (The rear section of the brain, which
controls functions like eating and breathing, does not contract with age, and one can
continue living without intellectual or emotional faculties. )

Contraction of front and side parts — as cells die off — was observed in some subjects
in their thirties, but it was still not evident in some sixty- and seventy-year-olds.

Matsuzawa concluded from his tests that there is a simple remedy to the contraction
normally associated with age — using the head

The findings show in general terms that contraction of the brain begins sooner in
people in the country than in the towns. Those least at risk, says Matsuzawa, are
lawyers. followed by university professors and doctors. White collar workers doing
routine work in government offices are, however, as likely to have shrinking brains as the
farm worker, bus driver and shop assistant.

Matsuzawa's findings show that thinking can prevent the brain from shrinking. Blood
must circulate properly in the head to supply the fresh oxygen the brain cells need. “The
best way to maintain good blood circulation is through using the brain,” he says, “Think
hard and engage in conversation. Don’t rely on pocket calculators, ”

36. The team of doctors wanted to find out

A) why certain people age sooner than others

B) how to make people live longer

C) the size of certain people’s brains

D) which people are most intelligent
37. On what are their research findings based?

A) A survey of farmers in northern Japan.

B) Tests performed on a thousand old people.

() The study of brain volumes of different people.

D) The latest development of computer technology.

38. The doctor’s tests show that

A) our brains shrink as we grow older

B) the front section of the brain does not shrink

() sixty-year-olds have better brains than thirty-year-olds

D) some people’s brains have contracted more than other people’s
39. The word “subjects” in Paragraph 5 means

A) something to be considered

B) branches of knowledge studied

C) persons chosen to be studied in an experiment

I2) any member of a state except the supreme ruler
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40. According to the passage, which people seem to age slower than the others?
A) Lawyers. B) Farmers.
C) Clerks. D) Shop assistants,

Passage 3

Questions 41 to 45 are based on the following passage.

Unless we spend money to spot and prevent asteroids (/VfT/&) now, one might crash
into Earth and destroy life as we know it, say some scientists,

Asteroids are bigger versions of the meteoroids (Jfi/£) that race across the night sky.
Most orbit the sun far from Earth and don’t threaten us. But there are also thousands of
asteroids whose orbits put them on a collision course with Earth.

Buy $50 million worth of new telescopes right now. Then spend $10 million a year for
the next 25 years to locate most of the space rocks. By the time we spot a fatal one, the
scientists say, we'll have a way to change its course,

Some scientists favor pushing asteroids off course with nuclear weapons, But the cost
wouldn’t be cheap.

Is it worth it? Two things experts consider when judging any risk are: 1) How likely
the event is; and 2) How bad the consequences if the event occurs. Experts think an
asteroid big enough to destroy lots of life might strike Earth once every 500,000 years.
Sounds pretty rare — but if one did fall, it would be the end of the world. “If we don’t
take care of these big asteroids, they’ll take care of us,” says one scientist. “It’s that
simple, ”

The cure, though, might be worse than the disease. Do we really want fleets of
nuclear weapons sitting around on Earth? “The world has less to fear from doomsday (B
KM rocks than from a great nuclear fleet set against them,” said a New York Times
article,

41. What does the passage say about asteroids and meteoroids?

A) They are heavenly bodies different in composition.

B) They are heavenly bodies similar in nature.

C) There are more asteroids than meteoroids.

D) Asteroids are more mysterious than meteoroids.

42. What do scientists say about the collision of an asteroid with Earth?

A) Tt is very unlikely but the danger exists.

B) Such a collision might occur once every 25 years.

©) Collisions of smaller asteroids with Earth occur more often than expected.

D) It’s still too early to say whether such a collision might occur.

43. What do people think of the suggestion of using nuclear weapons to alter the course of
asteroids?

A) Tt sounds practical but it may not solve the problem,

B) It may create more problems than it might solve.
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O It is a waste of money because a collision of asteroids with Earth is very unlikely.
D) Further research should be done before it is proved applicable.
44. We can conclude from the passage that

A) while pushing asteroids off course nuclear weapons would destroy the world

B) asteroids racing across the night sky are likely to hit Earth in the near future

C) the worry about asteroids can be left to future generations since it is unlikely to

happen in our lifetime
D) workable solutions still have to be found to prevent a collision of asteroids with

Earth
45. Which of the following best describes the author’s tone in this passage?
A) Optimistic, B) Critical. C) Objective. D) Arbitrary.

Passage 4

Questions 46 to 50 are based on the following passage;

The speaker, a teacher from a community college, addressed a sympathetic audience.
Heads nodded in agreement when he said, “High school English teachers are not doing
their jobs. ” He described the inadequacies of his students, all high school graduates who
can use language only at a grade 9 level. I was unable to determine from his answers to my
questions how this grade 9 level had been established.

My topic is not standards nor its declirfe (J&{K). What the speaker was really saying
is that he is no longer young; he has been teaching for sixteen years, and is able to think
and speak like a mature adult,

My point is that the frequent complaint of one generation about the one immediately
following it is inevitable. It is also human nature to look for the reasons for our
dissatisfaction. Before English became a school subject in the late nineteenth century, it
was difficult to find the target of the blame for language deficiencies (BRFE). But since
then, English teachers have been under constant attack.

The complainers think they have hit upon an original idea. As their own command of
the language improves, they notice that young people do not have this same ability.
Unaware that their own ability has developed through the years, they assume the new
generation of young people must be hopeless in this respect. To the eyes and ears of
sensitive adults the language of the young always seems inadequate.

Since this concern about the decline and fall of the English language is not perceived as
a generational phenomenon but rather as something new and peculiar to today’s young
people, it naturally follows that today’s English teachers cannot be doing their jobs,
Otherwise, young people would not commit offenses against the language.

46. The speaker the author mentioned in the passage believed that

A) the language of the younger generation is usually inferior to that of the older

generation

B) the students had a poor command of English because they didn’t work hard enough

7
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47,

48,

49.

50.

C) he was an excellent language teacher because he had been teaching English for
sixteen years

D) English teachers should be held responsible for the students’ poor command of
English

In the author’s opinion, the speaker

A) gave a correct judgment of the English level of the students

B) had exaggerated the language problems of the students

C) was right in saying that English teachers were not doing their jobs

D) could think and speak intelligently

The author’s attitude towards the speaker’s remarks is

A) neutral B) positive

C) critical I)) compromising

It can be concluded from the passage that

A) it is justifiable to include English as a school subject

B) the author disagrees with the speaker over the standard of English at Grade 9 level

C) English language teaching is by no means an easy job

D) Language improvement needs time and effort

In the passage the author argues that

A) it is unfair to blame the English teachers for the language deficiencies of the
students

B) young people would not commit offences against the language if the teachers did
their jobs properly

C) to eliminate language deficiencies one must have sensitive eyes and ears

D) to improve the standard of English requires the effort of several generations

Part [ Translation (15 minutes)

Directions: In this part, there are five items that you should translate into Chinese, each

item consisting of one or two sentences. These sentences are all taken from the
Reading Passages you have just read in Part I. You are allowed 15 minutes
to do the translation. You should refer back to the passages so as to identi fy

their meanings in the context.

. (Lines 1~3, Para, 1, Passage 1)

The rise of multinational corporations, global marketing, new communications
technologies, and shrinking cultural differences have led to an unparalleled increase in

global public relations or PR,

. (Lines 5~7, Para,. 2, Passage 1)

A recent survey found that more than half of all British companies include PR as part of their
corporate planning activities, compared to about one-third of U. S, companies.
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53. (lL.ines 1~3, Para. 4, Passage 2)
Computer technology enabled the researchers to obtain precise measurements of the
volume of the front and side sections of the brain, which relate to intellect and

emotion. and determine the human character.

54. (Lines 1~2, Para. 2, Passage 3)
Asteroids are bigger versions of the meteoroids that race across the night sky. Most

orbit the sun far from Earth and don't threaten us.

o
[@2]

(Lines 1~2, Para. 3, Passage 4)
My point is that the frequent complaint of one generation about the one immediately

following it is inevitable,

Part I Short Answer Questions (15 minutes)

Directions: In this part there is a short passage with five questions or incomplete
statements. Read the passage carefully. Then answer the questions or
complete the statements in the fewest possible words (not exceeding 10
words),

In Britain, the old Road Traffic Act restricted speeds to 2 m. p. h. (miles per hour) in
towns and 4 m. p. h. in the country. Later Parliament increased the speed limit to 14 m. p.
h. But by 1903 the development of the car industry had made it necessary to raise the limit
to 20 m. p. h. By 1930, however, the law was so widely ignored that speeding restrictions
were done away with altogether. For five years motorists were free to drive at whatever
speeds they liked, Then in 1935 the Road Traffic Act imposed a 30 m. p. h. speed limit in
built-up areas, along with the introduction of driving tests and pedestrian crossing.

Speeding is now the most common motoring offence in Britain. Offences for speeding
fall into three classes: exceeding the limit on a restricted road, exceeding on any road the
limit for the vehicle you are driving, and exceeding the 70 m. p. h. limit on any road. A
restricted road is one where the street lamps are 200 yards apart, or more.

The main controversy ($) surrounding speeding laws is the extent of their safety
value. The Ministry of Transport maintains that speed limits reduce accidents. It claims
that when the 30 m. p. h. limit was introduced in 1935 there was a fall of 15 percent in
fatal accidents. Likewise, when the 40 m, p. h. speed limit was imposed on a number of
roads in London in the late fifties, there was a 28 percent reduction in serious accidents.
There were also fewer casualties (#5T-) in the year after the 70 m. p. h. motorway limit
was imposed in 1966,

In America, however, it is thought that the reduced accident figures are due rather to
the increase in traffic density. This is why it has even been suggested that the present
speed limits should be done away with completely, or that a guide should be given to

9
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inexperienced drivers and the speed limits made advisory, as is done in parts of the USA.
Questions; (Vi & . MR B4, B 10 MAEMS . BEBERE N RIERF IR
e LD

S1. During which period could British motorists drive without speed limits?

S2. What measures were adopted in 1935 in addition to the speeding restrictions?

S3. Speeding is a motoring offence a driver commits when he

S4. What is the opinion of British authorities concerning speeding laws?

S5. What reason do Americans give for the reduction in traffic accidents?

Part V. Writing (30 minutes)

Directions: For this part, you are allowed thirty minutes to write a composition on the
topic Reading Selectively Or Extensively? You should write at least 120
words, and base your composition on the outline (given in Chinese) below:

L AEANAEPBERAERE
2. AN R SR
3. RMEE

Reading Selectively Or Extensively?

Part ] Vocabulary and Structure

ZAR it is (was). .. that (3R JEAI R, 388 until dark,
2412 F : she did not realize that it was too late to go home unti} dark.

A. no sooner. .. than: “H---+-§8”, % no sooner B AT BT, KSR ML,
No sooner had he closed his eyes than he fell asleep.
B. hardly. .. when 5 C. scarcely. .. when #8F R “— eeee AR E .

1) Hardly had he arrived home when his mother started complaining.
2) Scarcely had the car drawn to a halt when armed police surrounded it.
* . BHT B, CHETMBRER.
2O HERAMNSFEREMCEIEIN LT,
A, swallow: 7, Chew your food properly before swallowing it.
B. dispose (of); &#i, 458 All the furniture has been disposed of.
C. consume: {H#E,, 8

10
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She would consume nearly a pound of cheese per day.
D. exhaust, /R, FER
exhaust one's strength/patience; FIR 15,k FEimL»
exhaust a money supply: 84k
MRV, RN EFERR”.
They said that food supplies were almost exhausted,
ftefi Tt , B Y& BRI L.
3. O XM EETERA B b B 32 Bl .
A. scold (for); Heeeee [l
She scolded her daughter for having left the door open.
B. charge (with), - ¥
Police have charged Mr. Bush with speeding.
C. accuse sb. of sth. ; #EFEADEH
The manager accused Dick of neglecting his responsibilities.
D. punish (for); Pee«--- T 47
She was punished for cheating on the examination.
4. B) b 408 S R iE, XK E R BT .
AR R ERETE R, WP 8A RER i, laHE ST,
If he had worked harder, he would have got through the exams,
A. must have got through (FEifi1). must have done FRXtit Z2 18 59 £
W, rTRERF S HEL WA RRAFAEL MARRR S EFLTHR G,
S, must WRBEHF I & M44).,
[ must have gone to sleep without setting the alarm clock.
C. would get through: 4t GHRZEBERD
I would keep quiet if T were you.
D. could get through: 7I 883 (RR 5HAE K ISR T BER B AR
If we had the tools, we could fix the machine now.
5. B) TERZ .MMM HE B FH7E 0. 5 ETTH) 4 T2 EAS 5,
A, alter; T, A E
Her face hadn’t altered much over the years.
T XABE, W ARBERK,
B. range (from. .. to B between) . (AFZhAY) g & R B
There are 100 students whose ages range between 17 and 21.
C. separate (from); 438,43 FF
At that time the satellite separated from the rocket.
ARAEHE, DES KFHE.
D. differ (from...in): FEE HH Fe-ee-- NG|
In this respect, the Chinese differ from westerners,
6. D) iR = R XA E ST B R RP)IREE,

FREEH leave 1E R Bh RN 2EHL SR /E HEAMA (B v oAb FRLMRAS) O I .
11
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1) leave sb. doing: EiEHMshAIZ RN F X FR
(D Don’t leave him waiting outside in the rain.
B kA TE S R T
@ Mary’s narrow escape left her shaking with terror.
Mt —4 MR ES R,
2) leave sth. done. BB HISHAIZ [B] H¥shX R
Did you leave the doors and windows firmly fastened?
PRIEATA 11 B AR B T 2
3) leave sb, to do sth. ; let sb. decide or take responsibility
@D TI'll leave you to choose which film we see. iR BB B ZH 2.
@ They left their son to paint the gate. flfi1iEJLFMZE KT,
7. O HEFELRHARASELZWRETAERER SR,
A, resist: KB, AL, K
Students should resist the temptation to focus on exams alone.
A AR RBCE
R. sustain. L35, 458, X
Will this bookshelf sustain the weight of all these books?
ENTHREERZBEX 2L BHERG?
C. tolerate: 2., 2%, &5iF
How can you tolerate such a heat? KRS iX 4, H/EABEZET?
D. undergo: /7,83
The explorers had to undergo much suffering, KR REABAEHFET %,
8. D) BEZH 5 &R P M S BB B 34 2 F s eF T .
if only (R, B R - BT T) R — R R 28, 41 o 2 i BB #0135 5. “ would/could/
might+do” 8 A alhialit £ R (3hia] be f were),
1) If only it would stop raining.  2) If only he were here now.
9. O SHIrrd £ BRI R EA 6 RIR MR EDRH
at one time, W%, —fF
At one time there were not so many cars on the streets,
LARIH E B X ALK E,
* I ALB, D #AREES one time ¥y 4T1E .
10. A) SRLZME I TAHE, HABEBAA, LEHT.
have been doing: B SERHATRS » RN FE S — B AEHEAT , T BT B AR T84T
I have been hoping I'd have a chance to see the film,
K—-EREENLEXHaE.,
H. B JEMEANHLER AT R — b A1 AR R s, B BB i L E F e,
A. attention. F &
The press has given the story a lot of attention, R X SRR e,
B. attraction: RERSISIMABRY Ok . B % H“B1”)

The beautiful beaches are the island’s main attraction,
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